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(a)  Write down three sets A, B, C such that AUB=AVC, but B # C.
Rofot seafs A, B, C ot s AUB=AUC,B=C.

o e A B.CEi e AuB=AuUC, @B #C.

(b) IfAc B, prove that B'c A
where A’ denotes the complement of A. 2
I A ¢ B, o519 39t @ B'c A,
TO A'9 A T 970 RO JOIRNT |

M A ¢ B, O A% 3@ @, B' c A,

TIE A' e A T 930 RES |

(c) Let A and B be two sets. If n(A —B) =26, n(B — A) =17, and n(A N B)
= 12; find n(A), n(B), n(A U B). 3

A @i B 761 5122fG | I n(A —B) =26, n(B - A) = 17, &% n(A N B) =
12: n(A), n(B), n(A U B) Sfensdt |

A &R B 6 SRES | T n(A -B)=26,n(B-A)=17, 9% n(A N B) =
12; Ot n(A), n(B) 9 n(A U B) {9 3t |

(d) A function fis defined as follows :

i{(x) = ‘\I(2 -x) (x—1).

write down the domain of f.

amﬁmfmﬂw.ﬂmﬁmm:

f(x) =‘\}(2—x) (x-1).
f &9 Sfesace! fordt |

5.AM (EN/AS/BN) 2




93 T f 93 R et

f(x) =‘\I(2 -x)(x-1).
f 93 Sfesa®d et |

(€) LetR={(a,b):a,be Z a-bis divisible by 5} be a relation on Z,
the set of integers.

-Examine if R is an equivalence relation.

UG SR 256 Z oo

R={(a,b):a,be Z,a-b, 5 9@ [orar} 95t 5o |
Rm "_HlL"I":':I:\ T ,mm o T ﬁ’f l

TG S &G Z a7 Tofg
R={(a,b)ia be Z, a-b, 5wt [{OMGr} 93 s |
R ST S@eT oo & 13l BT |

2. (a) Ifa+ib=0;provethata—ib=0.
g a+ib=0; AN I Ta—ib=0

g a+ib=0; O AN I @ a—ib=0.

(b) Find the modulus of the following complex number

O GBS ST o F Sfead

 va e SRAMBE ToMF Fefy 3 -

7 —24i
4 + 31
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(¢) Find the cube foots of 64.

64 T g @261 VeI |

64 937 g o [T It |

(d) Find the square roots of
(e ey a4t
e fef

.

=4

(e) Express -\/3 + i in polar form.
i \3 +i ¥ &Y ARG A1 34T |

\[3 +i @ #AN AP AP FN |

'(f) If z is a complex number and Z denotes its conjugate, prove that

1 i) z+zis real
. (i) zZ1s real
i | +Z
2 s 1+1+1=3

(iii) The real part ofzis™H -
qfit z 9B Giber ST W€ Z 9 B9 LYl O, AN I @@
(i) z+z3I™

(ii) ZZ W

_ (i) z 99 ST IA
i ,lw@N/AS
O et

. a.— o e 3 T Lt e . _. B i = . i
; £ AL ) s 3 _!.._ﬂ_!_ Hegr o ST B 5 il o - P ] o o 4 K e r
’ o ot A Pl 1 o e i L e : '-ri" e i = f oz i A
f o= Hid A LA ¢ o ligl et =1y 4 = LN S o= RN =t Tt 2 T
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W z 93 Sfber sram 9w 7 afy sy o oA AW, O Axt
IR @,

(1) z+Z 3]

(1) zZ IS4

z+ 2z

(1) z a9 AT I 5 -

3. (@) One root of a quadratic equation is 5 + i. Form the equation. 2

96! fANS SN QBT &7 5+ i | TASIACH! 197 347 |
Q! RIS AR 93 &1 5 + i T TRIAD 07 I |

(b) The roots of the equation px* + x + q = 0 are real and unequal (p # 0, q
# 0). Show that the roots of x2 — 4\]&1 x +1=10 are complex.

mz+x+q=oaﬁmﬁqﬁ@1wwwm¢o,q¢m |
m&ﬁﬂx2—4ﬁx+l=0ﬁﬂﬂ{a‘ﬁ@ﬁﬂl

Hﬁm2+x+q=0mﬂmmﬂﬂw,(p;t()&q;t()),
IR (NS (¥, x2 — 4\[pq x + 1 = 0 NI 7o S |

(c) Find the condition such that the difference of the roots of the equation

ax2 + bx + ¢ =0, (a # 0) is equal to the product of the roots

%Wiﬂﬁlﬂ@ax2+bx+0*=0,(a¢0)ﬁﬂﬂiﬁmww
AP NI BT ?

ax? + by + ¢ =0, (a# 0) TS F T TR it sgereerg
SN 29T TS [T It |
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(d)  The sum of the areas of two squares is 225 cm?. If the side of one

SQuare is 3 cm more than that of the other, find the lengths of the sides

of the squares. 3

P! INCFTT IR @oweT 225 @R2 | of @5 919 AI=d T SIACEI
T Tots 3 BN, Q% 20, come T Afsrht 953 e T Bfenadt |

9o asfostan Ifers sf® 225 &2 | uff ol qofe IET O ST IR
Wmmm3mﬁ@ﬁ1mwm«ﬂ'ﬁwmﬁﬁml

4. (a) Findxiflog,32=x. 1
x o9 N7 Sfenagt gfn log,32 = x.

log,32 = x T x 97 N9 [ @t |

(b) Ifx=log,bc, y=logyca, z=Ilog.ab, prove that Y
g x = log,bc, y = log,ca, z = log_ab, #N14 4t @

gft x = log,be, y = log,ca, z = log ab, O A9 F@M (.

(c) Iflog;y2=0.30103, find the number of digits in 204, ;

g log;y2 = 0.30103, 264 SRATNBIS [FNAD! WF WMFT [efiy a5y |

gfi log;y2 = 0.30103 SR 264 SRUNMIS IO T WM Fefyy ey |
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5. (a) Find the coordinates of the points at which the y-axis intersects the

curve. 1

2x2 + Sxy + 3y2 —27=0

O SRIPC [T 991 THF y-STFR (BY < Ww?ﬁﬁqﬁﬁ |

2x% + S5xy l
2x2 + Sxyl+ 3y? — 27 = 0 STNeae [Tk I y-ar (O RSETS
Q" I O 2P [ et |

(b) Solve:

y+x—l=4

‘Downloaded from JobAssam.in

6. (a) How many four-digit numbers can be formed from the five digits 2, 3 ,

4, 5, 6, if no digit is used more than once ? 1

2.3, 4,5, 6 S ABorR GBI RIS FANGT =157 3 aiify
of Bt T IO @R I I TN ? |

2.3, 4,5, 6 o3 Aol o 5 I RFEE WG A T 3 vy 1

@I IRIL I @ JIWT A =W ?
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(b) If»C,+21C, +nC,=9C,,
find the value of n.
“ﬁnC4+2nC3fnC2=9C4a

n Oq N9 7 I |

n 99 N9 {7 Fear of

nC4+2nC3+nC2=9C4,

(c) The number of diagonals of a regular polygon is equal to the number

of sides of the polygon. Find the number of sides of the polygbn.

aaﬁwﬁqmmmwﬁaﬁwﬁammwmmw
RYGIIbA - SR Fefy It |

~

7. (@) Evaluate:
N7 A 41 -

TR T 3t

lllllllllllllllll

tan 87° tan 88° tap 8go



| -
(b) If ABCD is a cyclic quadrilateral, prove that :

ABCD 981 5371 5Q¢® X't oW1 34T (T

ABCD 93f 5 59¢er o=t aAN1 3t

COSA+cosB+cosC+cosD=0

(c) If A, B are acute angles and A > B, prove that : o 3
A, B [ @I 9IF A > B T, 9N 41 @ -
A, B S @ 9R A > B =T SN @ (T -

- sin (A —B) = sin A cos B - cos A sin B.

g : (d) Show that :
Cﬁ"{\?-iTGl :

C'NNCH':

tan 1 "=2—‘\ﬁ I

(¢) Show that: -
coyadt T :
NS (i

tan3_Atan2AtanA=tan3A—tan2A—tanA
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(f)  Show that : 3
Cﬁﬁi\SﬁT q :

M\3 @ :

1 —cos 20 + sin 26

1+c0329+si1:129=nEme

8. (a) Prove that the angles made b ngent to a circle with a chord drawn
from the point of contact ar pectively equal to the angles in the

alternate segments of the circl

Using this results, show that external

point are equal. 5S+3=8

AN IR @, 08T ~F 9 RN T ST S FA @l iR

QT 9T a1 Gl Tt SRAW Il (U @I Q@IT SN |

ISR (1S @, 93 AT RY A @A 38 4TS rfes s

A ORT SI |
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- (b) If two chords intersect at

(1) one internal points of a circle,

(1) one external point of a circle,

i

in both the casesy the areas of the rectangles formed by the

ents ot the chords : ual. 4
IOIIH A, AN Id W, T CFACG G HOE (TR G SO
SIOCHT [BI9 T SN |
Ift AT 099 4o ot
(i) Jofbd EOR
(ii) o AR A+ (@ IW, O AN FA @, $OU (AR wyyy
qfba et ol S WmeeRd qfoa Fifer s |
(c) O is an internal point of the triangle ABC. The bisectors of » AORB
/BOC, and ZCOA intersect AB, BC and CA at D, E, F respectively 3

-

Show that AD - BE - CF=DB - EC - FA
B1s- I /B | 1
e AM (FN/AS N) . | s

_: . -':,'-!:I‘.I“ .r j | :
& il . Hhﬂ Al 5 g o



ABC fageR O 4Bt ow:% &% | ZAOB, ZBOC, ZCOA I SWeLa@
& AB,BC,CA3F D, E, F ™© @ 37 |

@qadt a7 AD - BE - CF=DB - EC - FA

ABC fagrow 93 w9 R O | ZAOB, ZBOC 4® ZCOA 9%
SEYSF AB, BC 93 CA 3@ & D, E 9@ F Rvpe @ 9 |

8 @ AD-BE-CF=DB-EC:FA

9. (a) Find the gradient of the line passing through the points (4, 1) and
(3, 1 + \5). What is the angle made by the line with the positive
direction of the x-axis ? 1+1=2

@, 1) &% (5, 1 ++[3) K] B MO @RI @A 2geror Senadi |

RIS Xx-A%Fq §919F W1 S50 39t @re! f 2

4, 1) 9 (5, 1 +~/3) P qrta staor o 2t |
@I B at x-OCHI 4TS MPT ST BN Fat @D I 2

(b) Express the equation of the line 15x — 8y =17 in
(i) intercept form
(i) normal form 1+1=2
15x -8y =17 @44 SRPIIBIE
(i) R IO
(i) ofeers WIS
#AHT 4T |
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(d)

(e)

15x -8y = 17 @R ¥y o

(1) M= g
(i) wfesTy wrewg

A Q|

Obtain the intercept form of equation of a line. :

ATl @I (@R Widte SNeqet fefy 391 |

Mﬁmmnmﬁw&#ﬂm |

Obtain the equation of the line passing through the points (-3, 4) and
2, 7).

(-3, 4) T« (2, 7) RFE WoE @Rt @R Sleet [T 391 |

(-3,4) 9 (2, 7) [ ReOT @R SNt Fefw 3@t |

Find the equation of the line passing through the point (3, 5) and
perpendicular to the line 4x +y—2 =0.

4GIT @1 (3, ) R TSI TN AR QIS 4x +y ~ 2 = 0 cqarorerg

9 | (@UISIE S [ 3t |

(3,5)ﬁaiﬁaaﬁ@m4x+,y—2=0@mmm@mﬁaﬂﬁ’mqﬁqg
@t |
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10. (a) Find the mean deviation with respect to mean of the following

observations.

STfETe RO THe«at 1% [pfs [ 34t :

Graffie Reremby T Qe % (s [ow at

24,41, 33, 15, 35, 40, 29, 38, 5, 40, 25, 20, 45

(b) The distribution of marks of 50 students in an examination ar€ as

follows :

Marks 5 15 25 35 45

No.ofstudents 5 8 15 16 6

Find the mean deviation from the median of the above distribution. 3

A5t AFe 50 s9d T ORI [ere 9 999 ¢

QM 5 15 25 35 45

fawrrdta st 5 8 15 16 6

Riagfalg e 5 8 15 16 6

ﬁmmﬁaﬂwmwwﬁwﬁﬁﬂm |
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(¢) The variance of 12 observations is found to be 6. If 5 is added to each

of the observations, show that the new variance is also 6. - 4
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